_ Jindal Vidya Mandir,JSW Hill Side Township

Term-l Examination (2024-2025)

Class: VI SET-A Max.Marks: 80
Subject: Science Duration: 3hrs.

General Instructions:
The question paper is printed in 5 pages and has 56 questions.

o
The question paper is in two parts,section A-objective questions and
section B- subjective questions
e All questions are compulsory.
Section-A
I. Choose the correct option: 10X1M=10M
1. The process that is used in separating grain from stalk is
a.threshing b.winnowing c.sieving d.churning.
2. Which of the following can dissolve in water?
a.kerosene b.groundnut oil. c.glycerin d.mustard oil.
3. Itisimportant to consume diet with adequate amount of vitamins
because
a.They provide energy to the body
b.They protect the body against diseases
c.They promote proper growth of the body
d.They help in eliminating waste from the body
4. From the given list, which pair of objects could be made of plastic
A.Tooth brush B.Saree C.Spectacles D.Buckets E.Frying pan
a.AandE b.B andC c.BandE d.DandE
5. The presence of which of these components in air varies from place
to place.
a. oxygen b. nitrogen c. carbon dioxide d.water vapour
6. Which of the following terms constitute the female part of the
flower?
a.sepals,petals and stamen b.stigma,style and ovary
c. ovary,style and stamen d. ovary,stamen and stigma
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7. Components of air, which are harmful to living organisms are
a. dust and water vapour b. nitrogen and carbon dioxide
c. carbon dioxide and oxygen d.dust and smoke

8. Anemia occurs due to.
a.overeating of carbohydrates and fats
b.deficiency of vitamins and proteins
c.not eating enough iron rich food
d.not eating enough iodine sources

9. Assertion (A): In ancient times bullock cart was used as a means of

transport.
Reason (R): Aeroplanes were developed only in 1800 AD.

a.Both A and R are true and R is the correct explanation of A.
b.Both A and R are true but R is not the correct explanation of A.
c. Ais true but R is false.

d.Ais false but R is true

10. Assertion (A): Roots are plant structures that always grow below the

soil.
Reason (R): Roots absorb water and minerals from the soil.

a.Both A and R are true and R is the correct explanation of A.
b.Both A and R are true but R is not the correct explanation of A.
c. Ais true but R is false.

d.Ais false but R is true

ILFill inthe blanks: 10X1M=10M

11. The small bead like structures present inside the ovary are

12. The solid left behind after filtration is called

13. The layer of air around the earth is known as

14. Shiny appearance of materials is termed as

15. A set of standard units of measurement now used is

16. Foods rich in proteins are known as "

17. The striker in the game of carrom moves in motion.
18. The materials which are difficult to compress are known as

19. Deficiency disease in bones making it become soft and bent is

20. The process of conversion of water into its vapour form is called
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Match the following: 5X1M=5M

Column A Column B
21. | Unwanted plants a. Herb
22. | Pumpkin plant b. Climber
23. | Money plant . Shrub
24. | Banana plant d. Creeper
25. | China rose plant e. Weeds
f. Tree
IV. Give an example for the following: 5X1M=5M
26. Transparent object.
27. Periodic motion.
28. Sieving process
29. Deficiency disease caused by vitamins only.
30. Uses of air.
V. In each sentence,the underlined word is incorrect, write the correct
word for each of the following: 5X1M=5M
31. Root usually has a petiole and lamina.

32,
33.
34.
35.

VI.

36.
37.
38.
39.
40.

The major component of air is carbon dioxide.

Proteins and fats mainly provide energy to our body.

Motion in straight line is called as curvilinear motion.

A mixture of small stones and rice grains can be separated by
magnetic_separation.

Answer the following questions in one word or a sentence:
5X1M=5M

Which nutrient is detected from starch test?

What is fortification of food?

Define opaque objects .

1 decade= years

In which tree do prop roots are seen?
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Section-B

VIl. Answer the following questions intwo sentences : 5X2M=10M

41. Food is called fuel for living organisms.Justify your answer with any
two reasons?

42. Describe an activity to show that air supports burning .

43. The distance between Swati's home and her school is 5km. Express
this distance into meter and centimeter.

44, Differentiate between parallel and reticulate venation with an
example for each .

45. Why do we need to separate different components of a
mixture?Give an example.

VIil.Give reasons for the following: 3X2M=6M

46. Breathing through your mouth could be dangerous.

47. During an incident of fire,one is advised to wrap a woollen blanket
over the burning object.

48. Materials can be grouped on the basis of similarities or differences in

their properties.

IX. Answer the following questions in detail : 5X3M=15M
49, Explain the composition of air with help of labelled diagram.
50. How would you obtain clear water from a sample of muddy water?

51. Write the similarities and the difference between the motion of a
bicycle and a ceiling fan that has been switched on.

52. a.Discuss the solubility of gases in water.

b.How is oxygen gas dissolved in water helpful to aquatic
animals?

53. a.Draw a neat labelled diagram of hibiscus flower.

b.What is pollination?
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X.Think and answer: 3X3M=9M

54. Paheli doesn't like drinking milk and avoids other dairy products.
a.Why are dairy products important for Paheli's growth and
development? (M)
b.What nutrients do dairy products provide, and what are their
benefits? (1m)
c. What are some other sources of these nutrients if Paheli doesn't

like dairy products? (1m)

55. Boojho and Paheli were measuring the length of the classroom using
handspan.By that time Boojho’s Science teacher came and suggested
them to use a measuring tape for fair result.Boé)jho happily finished
measuring and tabulated his readings using measuring tape.

a.Define hanspan? (1m)
b.Why did the teacher ask them to use a measuring tape? Mention
two reasons. (1Mm)

c. What values of Boojho is shown here. (1M)

56. Both Sarika and Mohan were asked to make a salt solution.Sarika
was given a teaspoon full of salt and half glass of water.Whereas

Mohan was given twenty teaspoons full of salt and half glass of

water.

a.How do they prepare a salt solution? (1m)
b. Who would be able to make a saturated solutions? (1Mm)
c.Define saturated solution? (1M)
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JINDAL VIDYA MANDIR, JSW HILL SIDE TOWNSHIP
Term-l Examination (2024-25)
Set- A
Class: VI Max. Marks: 80
Subject: Social Science Duration: 3 Hrs.

Jindal Vidya { Mandir

General Instructions:

I. Question paper comprises six sections — A, B, C, D, E and F. There are 55 questions in the
question paper. All questions are compulsory.

ii. Section A —(Objective) Question no 1 to 40 are MCQs of 1 mark each.

iii. Section B — Question no 41 to 44 are very short type questions, carrying 2 marks each.
Answer to each question should not exceed 40 words.

iv. Section-C -Question no 45 to 47 are short answer type questions, carrying 3 marks each.

Answer to each question should not exceed 60 words.

v. Section-D- Question no 48 to 49 are long answer type questions, carrying 5 marks each.
Answer to each question should not exceed 120 words.

vi. Section-E — Question no 50 to 51 are case based questions with three sub questions and
are of 4 marks each.

vii. Section-F- Question no 52 to 56 is map based, carrying 5 marks with two parts,52 from
History and SPL (2 marks) and 53 to 55 from History and SPL (3 marks)

viii. There is no overall choice in the question paper. However, an internal choice has been
provided in few questions. Only one of the choices in such questions must be attempted.
In addition to this, separate instructions are given with each section and question,
wherever necessary.

SECTION A

I. Choose the correct option from the following multiple-choice questions. 1x8=8

1. The annual movement of the Earth round the Sun is called

(a) rotation (b) revolution (c) orbit (d) inclination
2.In India, the government is elected for a period of ]

(a) two years (b) four years (c) five years (d) six years

3. Man became a food -producer from a food-gatherer during which age?

(a) Palaeolithic age (b) Mesolithic age (c) Neolithic age (d) Modern age
4. Sanskrit is a part of a family of languages which is known as :

(a) Indo-Dravidian (b) Indo-European (c) Indo-Russian (d) Indo-China
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5. Who were the two powerful rulers of Magadha?

(a) Ajatasatru& Alexander

(b) Bimbisara & Ajatasatru

(c) Alexander& Bimbisara

(d) Ajatasatru &Ashoka

6. When people act on their prejudices or stereotypes, it gives birth to .

(a) discrimination (b) equality (c) inequality (d) botha &b

7. The Harappan script is .

(a) Alphabetical (b) Pictographic (c) both a &b (d) none of these

8. A country’s customs, religions, arts, and history constitute its .

(a) culture (b) diversity (c) tradition (d) constitution

Il. Match the contents of column-A with that of column-B. 1x5=5
Column | Column Il

9 | Jallianwala Bagh Massacre A | Paiyampalli

10 | Black gram B | Mohenjodaro

11 | Prime Meridian C | Norway
D
E

12 | Great Granary 13 April, 1919
13 | Land of Midnight Sun Greenwich

ll1. Fill in the blanks with the appropriate word. 1x8=8
14. Manuscripts were preserved in ’
15. was a famous astronomer of ancient India.
16. is the highest judiciary in our country.
17. The major source for the study of history of the Vedic people is .
18. The Apostle of Christ came to India and began Christianity.
19. Hunsgi is famous for
20. The government refers dalit as ;
21. The invention of wheel was an important discovery of age.

IV. There are two statements marked as Assertion (A) and Reason (R). Mark your answer as
per the codes provided below: 1x5=5

22. Assertion: In India before independence, only a small minority was allowed to vote.
Reason: All adults having the right to vote is known as the Universal adult franchise.

a. Both A and R are true and R is the correct explanation of A.
b. Both A and R true but R is not the correct explanation of A.
c. Ais true but R is false.
d. Ais false but R is true.
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23. Assertion: Vajji, another powerful kingdom was ruled by a different form of
government as opposed to that of Magadha.
Reason: This different form of government was known as Gana or Sangha. In this,
there were not one, but many rulers.

a. Both A and R are true and R is the correct explanation of A
b. Both A and R true but R is not the correct explanation of A
c. Ais true but R is false

d. Aiis false but R is true

24. Assertion: The axis of the Earth is a manmade physical line.
Reason: The axis of earth makes an angle of 66 and a half degrees with its orbital plane.
a. Both A and R are true and R is the correct explanation of A
b. Both A and R true but R is not the correct explanation of A
c. Ais true but R is false
d. Ais false but R is true

25. Assertion: Slavery system was well in prevalence during the Vedic age.
Reason: People who composed the hymns described themselves as ‘Dasyus’ and called
their opponents ‘Aryas’.
a. Both A and R are false and R is not the correct explanation of A
b. Both A and R true but R is not the correct explanation of A
c. Ais true but R is true
d. Ais false but R is true

26. Assertion: Only one side of the moon is visible to the people of earth.
Reason: The moon revolves around the earth in about 27 days. It takes the same time
to complete one spin.
a. Both A and R are true and R is the correct explanation of A
b. Both A and R true but R is not the correct explanation of A
c. Ais true but R is false
d. Ais false but R is true

V. Define the following. 1x 6 =6
27. archaeology: 28. Constitution: 29.Circle of illumination:
30. Janapadas: 31. Apartheid: 32.Globe:
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VI. Brain Boosters: True or False 1x5=5

33. Consider the following statements about artefacts as a source of history and identify the
incorrect one.

a. Artefacts are studied by archaeologists.

b. Artefacts can tell us about the religious literary works written in the past.

c. Artefacts include humans and animals’ bones and the remains of the past.

d. Artefacts can tell us about the religious practices of people in the past.

34. Why was the local time of the meridian 82230’E, taken as the Indian Standard Time?
Identify the correct statement from the following options.
a. This meridian passes through Delhi.
b. The Sun shines directly over this meridian every day at noon.
C. The local time of a particular place is determined by the mid -day sun.
d. To avoid the confusion caused by different places with in a country follow thé: :
Standard time.

35. Which one of the following statements correctly describes patriarchy?
a. The oldest male is the head of the family.
b. The girls are given more importance in the society.
C. Boys and girls go to school.
d. Men and women take part in the religious functions.

36. Which of the following statement incorrectly explains “why life is not possible on the
Moon”?

The moon has a very cold temperature.

The moon has its own light.

The moon has no air on it.

The moon has an uneven, rocky surface.

o 0 oo

37. Which of the following statements concerning Kerala is correct?

a. Itis in the north-west of India.

b. It is famous for pashmina wool.

c. Ibn Battuta visited Kerala seven hundred years ago and wrote a travelogue on Kerala.
d. Kathakali and Kuchipudi are classical dances of Kerala.
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VII. Answer the following questions with the help of clues given in the form of pictures.
1x3=3

i

38. On®f the best know artefacts of The Indus Valley, bronze figure of dancing girl is found
at

40. What do these boulders signify in the Vedic period?

SECTION B
VIIl. Very short answer-based questions (30-40 words) 2x4=8

41. Why Frigid Zones are very cold?

42. Which gods were worshipped by the Harappans?

43. What is an equinox?

44. Distinguish between the term ‘prejudice’ and ‘stereotype’.
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SECTION C
IX. Short answer based questions (60 - 80 words). 3x3=9

45. Describe the temperate zones of the Earth with the help of a diagram.
46. Write a brief note on Dholavira and Lothal.
47. In what ways was the Vajji sangha different from the other Mahajanapadas. List at least
three differences.
Or
Distinguish between monarchy and democracy.

SECTION D
X. Long answers-based questions (100-120 words). 2x5=10

48. How do burials help in understanding social differences?
Or

Discuss the varna system, which was made by the priests.

49. Write down some words originated from’ Geo’ or ‘Ge’.
Or
Examine the reasons for the decline of the Indus valley Civilisation.
SECTION-E
Xl. Case based questions 2x4=8
50. Read the source given below and answer the question that follows:
On 21°* June, the Northern Hemisphere is tilted towards the sun. The rays of the
sun fall directly on the tropic of cancer. As a result, these areas receive more heat.
The areas near the poles receive less heat as the rays of the sun are slanting. The
North Pole is inclined towards the sun and the places beyond the Arctic Circle
experience continuous daylight for about six months. Since a large portion of the
Northern Hemisphere is getting light from the sun, it is summer in the regions
north of the equator. The longest day and the shortest night at these places occur
on 21% June. At this time in the Southern Hemisphere all these conditions are
reversed. It is winter season there. The nights are longer than the days. This
position of the earth is called the summer solstice.

i. Why does the area around the Tropic of Cancer receive more heat? 1M
ii. When does the longest day and the shortest night occur? 1M
iii. What is summer Solstice? 2M
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51. Read the source given below and answer the following questions:

A democratic government can be understood as a representative government
where people elect their representatives through periodic elections. These
representatives in turn meet and make decisions to serve the interest of the
entire population. A democratic government allows a Universal Adult Franchise
to its citizens. However, in the earliest forms, government allowed only men to
vote. Gandbhiji, in his journal ‘Young India’ rejected this idea. He held that it is not
fair to extend the right to vote only to the wealthy. He advocated that men of
good character and poor should also be given the right to vote because poverty is
not a crime. In a democracy, the citizens s must be able to enjoy basic rights and
freedom.

i. What are the key points of democracy? 1M
ii. A democratic government is also known as 1M
iii. Who is the editor of the journal ‘Young India? What did the editor say about right to
vote in his journal? 2M
SECTION-F
XIl. Map skill based question 2+3=5

52.(i). Two places A and B have been marked on the given political map of India.

a) In which caves the traces of ashes left by early man have been found?
b) Name the place where the Pashmina shawls are woven.

(ii) On the political map of India locate & label the following.

53) Bhimbetka 54) Mehrgarh 55) Ladakh

%k %k 3k 3k 3k 3k 3k ok ok ok %k k
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Jindal Vidya Mandir, JSW Hill Side Township
Term- | Examination:(2024- 25)
SET-A
Class VI/Sec: Duration: 1 Hr.

Subject: Information Technology Max.Marks: 25

General Instructions:
* This question paper consists of 2 pages with V main headings.

*All questions are compulsory.

I Fill in the blanks 4 X 1=4M

1. language uses simple English words and mathematical
operators.

2. allows you to change windows 10 into a touch-friendly
interface called the Tablet mode.

3. is a readymade button for defining hyperlink on as
slide.

4. The view displays a miniature view of all the slides of a

presentation.

Il. State whether the following statements are True or False. 5 X 1=5M
1. To move to the next slide in the slide Show View, the Esc key is used.
2. The shortcut key for Flash Fill is Shift+E.
3. Transition effects give motion to the text and pictures.
4. The reading mode of Microsoft Edge opens a web page with only the
pictures displayed.

5. Machine language uses mnemonic codes.

Ill. Choose the correct answer. 4 X 1=4M
1. A program written in a high-level language is called a

program.
a. assembler b. source c. object
2. The is @ new feature in Windows 10, which enables you to

organise the applications running on your computer.
a. task view b. action center c. cortana
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3. Which of the following groups holds action buttons?

a. shapes b. icons c. 3D models
4, is the shortcut key to undo the last action.
a. ctrl+z b. ctrl+y C. ctrl+x
IV. Answer the following application based questions. 2X2=4M

1.Roopali has created a presentation with sixteen slides. Her teacher asked
her to display all the slides on a single screen. Help Roopali in selecting the

appropriate view.

2.Sia wants to burn her favorite songs on a CD/DVD. Which utility program
should she use?

V. Answer these questions 4 X 2=8M

1. What is the use of Windows Media Player?
2. Differentiate between an interpreter and a compiler.
3. What do you understand by animation? How is it helpful in

presentation?
4. How can you change the row height in a worksheet?

Page 2 of 2



Jindal Vidya Mandir, JSW Hill Side Township
Term-l Examination (2024-25)

Class/sec: VI__ Max Marks:25
Subject: Hindi (11l Lang) Set-A Duration-1Hr

Iragd Ader- 1) st weal &1 g oar fAarr §
2) yeal #T Fel HEAT 6 B

g 1) faw arv afsea rgzier F1 get AR o weal & Wl 3w Rwet A ¥ gaew v -
After reading the given seen passage, tick the correct answer to the following
questions by choosing from the options given below -

U 3elal & Ueh 9119 H @l gl 3% TR & IRT 1% 8- Td & qrael Sgd
EUAW Tl g1 UGS & WIY-HIY IF Wol-dg A T o 3T @ ¥ T 9K dg 39« oS A

AT & @Y B & g PUS-gUTS W W@ A U G ggel dor 3Tel 3 & fastelr @ @
39S IAT AT |

1x5=5

1) 9rrer &gl et & ?

&) HolaX @) Tl M) SR ) dITelR
2) YT & X & ORI da{® F4T § ?

%) =G @) gl M) Tl ) W
3) wrre wer$ 3T Werme A A } 2

&) FHAR ©) Sh-dlah 1) B ) SAH d IS gl
4) 9rgd Hiaar g W A ?

F) @r-@r o) Hasar M) FUA-PUTS ) gl
5) 3meft e & Fur A7 arar ?

&) fostell &1 @ @) & M) dr ) 93
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g ) Aeafaf@a el & 33 v @ o gy A *fE -

(Answer the following questions in one to two sentences)

(1) el fraenT gT 19T & 2
2) I[sRT SWHT I AT FHSAT ?

(2)
(3) AT FAH FHe TS ?
)
)

(4) HIS FIT WeAT ATEAT AT ?
TG AT AAIHE WTAT FAT 2T ?

(5
gt |ll) 8 & 37eT d5HT Tl SATel aTel Y Well F AT TATHT -

wesT 1V) Wl e ersei +I fAemsu-
( Match the opposite words )

(%) (@)
1) Ry S
2) qu ASH
3) & g
4) 3 Sie:)

ge V) T & 3ad+ faf@uw -

( write plurals of the following )

drer S frae sw=Am

e VI) ReFa wue 1 qfd ffow -
( Fill in the blanks )
(Rt 3w geata 3WR )
1) T F # @ala i T ot |
2) A 9T { Hogar ar ¢ |

e e e A e A6 A A6 0 A e e B e B e B e B 0 e A 0 B e e 0 N ke
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Jindal Vidya Mandir

Jindal Vidya Mandir,JSW Hill Side Township
Term-| Examination ( 2024-25)
SET-A
Class:-VI M.Marks:25

Subject Kannada(lll Language) Duration:1Hr

General Instructions::':I.raaﬁ:—wg\:ﬁﬂe‘?m‘=Z WOTON TJINR g%mn LB0%00.

3 TZ T30 2 UNAY,TNR 6 IJAYR, SROVT.
N = <

.32 8¢R Snyimbm Wl TNy, Wr=nR0. 4x1=4
(TOoR, TWEWY, TR, WONONOT)

(HIBRERROT R’R03o003

(2)3200N0Z 200TRNY,WVLN0S

(3)SPNOR 3BRA 2.

(HROB W) TLORNTOS 23¢T 30WZ03.

11.3: 37 2rtos w3Tnvs: BOmRN wWeeks 2B0ND. 4x1=4
(1) 3D

(2) 033

(3) BBD :

(4) 053&%3 :
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HI. 3 398 80ticom Soesmy, 3T c3noR Bewsts.?
1)'To0BH FTPIT wYe?’
2)'sR0dey WYmN. wnII e Fednere o’

3)' T80 TYNR VBTWe BT LIRS VIS,

IV. 32 3R Bntithx ITNOR TOSRE TWETJE w30WT.
(wde, [, gegh, TOON)

1) &

&

2) TOTED

V. 33 3SR %.ra&édm ‘e’ r«::ié(,%c;:mael ‘2’ aj&éoiraoaﬁ 2RO WI.

1) eworier), i. 2280x=T03
2) o& ii. %0303
3) &008, iii. 3$0NTOS
4) ROT T V.00 303

Vig: 397 3pidths IZRVR womd TeEmRY evgda.

(1) 33T [eorSTRSODNY O, ZONVH?

(2) 88T IPFONY VRTO O O3RTY ent ™D BNLWHI?
(3) O3RTY O3 mioﬁa ﬁ@o&mﬁd@da?

(4) o8 29N BRENT?

(5) M 03T TFOIDY, FTOINET?
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~ Jindal Vidya Mandir,JSW,Hill Side Township

Term-l Examination(2024-2025)

Jindal Vidya Mandir

Set-A
Class: VI Max. Marks: 25
Subject: General Knowledge Duration: 1 hr.

General Instructions:
e The question paper consists of 2 pages and has 23 questions.
e All questions are compulsory.

I.Choose the correct option : 5X1M=5M

1) Adieu in French means

a) thank you b)welcome c) fare well d) sorry
2) Which Indian deity is known as lord of dance?
a) Vishnu b)Indra c) Brahma d) Shiva
3) The leaves and stem of potato contains which poison ?
a) morphine b) nicotine c) solanine d) digitalin
4) When was first Aadhaar card issued ?
a)2000 b)2017 c)2010 d)2009

5) Whois first chairman of UIDAI ?
a) Nandan Nilakani b) Dr.Manmohan Singh c)Keeleri Joseph
d) Amit Shah

IL.Fill in the blanks : 5X1M=5M
6) Mt. Everest was first scaled by Tenzing Norway and

7) Perimeter of a square with side 10 cm is cm

8) Government by a small group of people is

9) Meenakariis the art of jewellery .

10) Sattriya theatre is also known as

lll.Answer the following questions : 6X1M=6M
11) Name different groups of musical instruments.

12) Who founded Magadha Emphire?

13) Name any two chemicals used in daily life.

14) Whose real name was Zahir-ud-din Muhammad?

15) What is full form of Ph.D?

16) Who is inventor of dynamite?
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IV.Answer the following questions in detail : 2X2M=4M
17) Draw and label the layers of Earth.
18) What is Electrocardiograph?
OR
Mention any four Indian Awards.
V. Name the famous personalities/sites : 5X1M=5M

| rr3 323 8% e 4 ~ P
Ot 130 i 0 1 0 6t T IR O “ : ~

23) r —Ly
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Jindal Vidya Mandir, Hill Side Township

: Term - | Examination (2024-25)
Class: VI SETA Max.Marks:80

Subject: English Duration: 3 hrs

General Instructions:
<This question paper has 7 main questions and in 5 pages.
< It consists of four sections. Sec A (Reading) Sec B (Writing) Sec C (Grammar) Sec D (Literature)
<Mention the correct Sl. No. of the questions.
<Write neatly and legibly in the answer sheet.

Section-A (20 marks) READING
Q1. Read the given passage carefully. :

Passage- A
There are houses all over the world. Some houses are large. Some are small. Some

are made of wood. Some are made of rock. Some are made of mud. Some are made
of cloth. In cold places, some houses are made of ice — frozen water! People usually
build their houses with something that is easy to find. For example, there are many
trees in the forest. So people who live there might build a house made of logs. Some
houses have one room. Some houses have many rooms. There is usually a bedroom
for sleeping. There is often a kitchen for cooking. There is usually a bathroom. There
is often a living room for sitting and talking. Some houses have basements. The
basement is under the main part of the house. Some houses have attics. The attic is
above the main part of the house. Most houses have a door so people can enter and
exit the house.

Most houses have windows so the people can look outside. Windows also let air into
the house from outdoors. Some houses are fancy. They are painted in bright colours
and are very decorative. Some houses are not fancy — they are plain and simple.
Houses look very different in different parts of the world. But, people who live in a
house probably agree that there is no place like home!

On the basis of your understanding of the passage. Choose and write the correct

option: (10X1M=10M)
i) Why are many forest houses made of logs?
a. there are many logs in the forest b. trees are easy to find in the forest

c. there is a lot of wood in the forest.  d. all of the above
i) Why do houses have bedrooms?
a. for sleeping b. for cooking c. for relaxing d. for building things
iii) Where is the basement of a house?
a. beside the house b. above the house
c. under the house d. none of the above
iv)Houses have doors...
a. so people can enter and exit  b. so people can sleep
C. so people can cook and eat d. both a and b are correct.
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v) Houses have windows to...
a. let people go outside b. let people look outside
c. let air into the house from outdoors d. both b and c are correct.

vi) What is ice?

a. trees-that are cut down b. water that is frozen
c. a kind of grass d. a kind of cloth
vii) A kitchen is a...
a. room for sleeping b. room for cooking.
c. room which is under a house d. room which is above a house.
viii) an attic is...
a. a house made of ice b. a house in the forest
c. aroom under a house d. a room above a house.

Ix) Choose and write from the passage which means:
attractive or pretty to look at:

x) Choose and write from the passage which means:
icy and cold:

Q2. Read the poem given below and answer the questions that follow:

Fame is a food that dead men eat,

| have no stomach for such meat.

In little light and narrow room,
They eat in the silent tomb.

With no kind voice of comrade near
To bid the feaster be of cheer.

But friendship is a noble thing,
Of friendship it is good to sing.
For truly when a man shall end,
He lives in memory of his friend,
Who doth his better part recall,
And of his fault make funeral.

Answer the following questions by choosing correct options:

i) By the expression ‘Fame is a food that dead men eat’ we mean

(a) fame is enjoyed only after death c) fame is something like a food

(b) fame is enjoyed during life-time (d) fame dies with one’s death.

ii) Friendship is a noble thing because
(a) a man cannot live without friends
b) real friends are very helpful

d) it enhances dignity of mankind.

(10Mm)
(1)

(1)

(b)
(c) a man always remembers the good qualities of his friend after his death
(d)
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iii) Friendship is better than fame because in friendship (1)
(a) when a man dies he lives in the memory of his friend
(b) @ man always regards his friend
(c) enmity never comes
(d) a man is always happy in the company of his friend.
iv) In the last line of the above poem the poet wants to convey that (1)
(a) one should believe in friendship
(b) the faults of a man are highlighted by his friend after his death
(c) the faults of a man are forgotten by his friend after his death
(d) one should not run after fame and friendship.

E. The word recall means (1)

(a) forget  (b) come close (c) help (d) remember
F. Give a suitable title to the above poem. (IX1IM =1M)
G. Choose and write four pairs of rhyming words from the poem. (4x0.5M = 2M)
H. Choose and write the opposites of the given words: (4x0.5M = 2M)

(a) wide (b) noisy (c)bad (d)far

Section-B (15 Marks) WRITING
Q3.
A. NOTICE WRITING (5 marks)

You are Rohan/ Ragini the class monitor of your class. Your class teacher has asked
you to inform that there will be a strict inspection/checking of school uniforms on
Monday. Write a notice in about 50 or 60 words to inform your classmates about this.

B. ESSAY WRITING

Write an essay in about 80-100 words on any one of the topic given below. (5 marks)
1. My Parents
2. Importance of Library

C. STORY WRITING
Build a story in about 80-100 words from the outlines given. Also write the title &

moral of the story. (5marks)

Outline:

A boy used to cry for new costly shoes--- poor father--- factory worker---
less salary--- couldn't afford--- the boy cried a lot--- left home--- saw a
beggar at the bus stop--- he had no legs--- realization happened--- thanked
God for giving him two legs--- realized the love and care of his parents
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Section-C (20Marks) GRAMMAR
Q4. DO AS DIRECTED

A. Fill in the blanks with the present perfect continuous form of the verb given in
brackets. (3X1M=3M)

[) Rahul _ French for three months. (learn)
[1) Mr Rakesh __in New Orleans for the past four years. (stay)
lll) The boys in the park since five o’clock. (play)

B. Read the following sentences and select the correct form of the verb given in
bracket. '

l. Rita ____ a mile every day. (run/runs) (3X1M=3M)
ii. The dogs ____ all night. (barks/bark)
iii. The cat ___ the snake. (catch/caught)

C. Identify the subject and the predicate in the following sentences and write it.
I. Every day Sam goes to school. (3X1M=3M)
Il. Next week my grandparents are going to visit us.
[ll. The principal guided the students to be disciplined.

D. Choose the correct option of the adjectives. (3X1M=3M)
i. Anu had a in her hair.
i) nice golden clip  ii) Golden nice bow iii) clip nice golden
ii. They met women at the workshop.
i) very intelligent four i) four very intelligent iii) very four intelligent
iii. Neha bought apples. .
i) great some big ii) big great some iii) some great big
E. Fill in the blanks with ‘a’ /’an’ or ‘the’. (4X1M=4M)
i) Canl ask ............ question?
i) ltWas oo, air-conditioned den with all the comforts of a home.
iii)Where is Om? ‘Heis in ............ bathroom.’
iv)Rita is ............ interesting person. You must meet her.

F. Fill in the blanks with suitable forms of the helping verbs ‘be’ and ‘have’.
(2X1M=2M)

a) We crossed the road before the bus came.
b) Zoya _dancing on stage.
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G. State whether the verbs in the following sentences are transitive or intransitive.
(2X1M=2M)
i) | received your letter in the morning.
ii) A light was shining.

Section-D (25Marks) LITERATURE

Q5. Read the extracts given below and answer the questions that follow.
(3X1M=3M)

Extract- A
“Patrick! Do your homework or you won’t learn a thing” And it’s true, sometimes he
did feel like an ignoramus. But what could he do? He hated homework.”

() Who complained for not doing his homework?

(ii) Who hated doing homework?.

(iii) What did Patrick like to do instead of doing homework?

Extract- B
Read the extracts given below and answer the questions that follow  (2X1M=2 M)

“I quarrelled with my brother
I don’t know what about,
One thing led to another
And somehow we fell out.
The start of it was slight,
The end of it was strong’.”

(i) Name the poem and the poet.

(i) Who were quarrelling?

Q6. Answer any four of the questions in about 20 or 25 words. (4X2M=8 M)
(a) Who did the dog first choose as his master?
(b) Why didn’t the farmer’s wife want to leave the baby alone with the mongoose?
(c) What did the iron chest contain?
(d) Why did the farmer bring a baby mongoose into the house?
(e) Who visited the shepherd one day?

Q7. Answer any four of the questions in about 40-50 words. (4X3M=12M)
(i) How did Taro’s father show his happiness after drinking sake?
(ii)What according to you is beauty and what does the poet mean by ‘wind
sighing’?
(iii) When and why did Kalpana Chawla go to the U.S? Whom did she marry?
(iv) Why did Swami Haridas say Tansen was talented?
(v) What happens to the thread when it gets loose and how does the kite look

when it flies in the sky?
3k 3k 3k 3k sk ok sk sk 5k sk sk 3k sk sk sk sk sk sk sk ok kok ok
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Jindal Vidya Mandir, JSW Hill Side Township

Term -1 Examinations (2024-25)

SET-A
Class: VI/ Max Marks:80
Sub: Mathematics Duration:3Hrs.

General Instructions:

e This question paper consists of 5 pages and X main questions.

It contains 44 questions.

It consists of two sections, A and B. Section A is objective type and section B
is subjective type.

All questions are compulsory.

SECTION A
I. Choose the correct option and complete the statements 8x1M =8M
1. The smallest whole number is |
a)o b) 1 c)2 d) 3

2. Number of line segments in the figure given below is r

a)5 b) 10 c) 15 d) 20 A B C D E
3. The number of common prime factors of 75, 60, 105 is
a)2 b)3 c)4 d)5

4. The face value of 7in 370345 is

a) 70000 b)7000 c)700 d) 7
5. Measures of the two angles between hour and minute hands of a clock at 9 O’
clock is
a)60° b) 90° c) 75° d) 30°

6.Every integer less than 0 has the sign
a) + b) — c) x d) +
7. The predecessor of 1 lakhis__
a) 99000 b) 99999 c) 999999 d) 100001
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8. The product of smallest 3-digit number and even prime numberis .
a) 200 b) 204 c) 206 d) 202

Il. State whether the following statements are ‘True’ or ‘False’. 6x1M =6M

9. The number 58963 rounded off to nearest hundred is 58900. ( )
10. The LC.Mof 5and 25is5 ( )
11. Sum of two whole numbers is always less than their product. ( )
12. 0°is an acute angle. )
13. If a number is divisible both by 2 and 3, then it is divisible by 12. ( )
14. The sum of all the integers between =5 and -1 is —6. ( )
II. Fill in the blanks: 6x1M =6M
15. The H.C.F of co-prime numbers is always

16. The number of right angles in a straight angle is

17. The largest six-digit telephone number that can be formed by using

digits 5, 3, 4, 7, 0, 8 only once is

18. The successor of (=50) is_

19. The fraction of a full clockwise revolution that the hour hand of a clock completes
when moving from 7 o’clock to 10 o’ clock is
20. In Indian System of numeration, the number 6171168 is written, using

commas as L

IV. Match the following 5x1M =5M

Q.No. Column A Column B

21 The difference of two consecutive whole numbers | a)-2

22 All sides are of different length b) <90°

23 The additive inverse of +2 c)l

24 Acute angle d)The edge of a post card

25 Line segment e) Scalene triangle

V. Draw diagram and label suitably in each of the following cases. 5x1M =5M
26.i)) 75 and — meetat pointO.
OoP oQ

ii) A closed curve that is not a polygon.

i) Two angles such that they have two points in common.

iv) An obtuse angled isosceles triangle.

v) A rectangle by joining exactly four of the vertices of the octagon.
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VI. Case Study:
27. Read the paragraph and answer the following questions. 4x1M =4M

In the IPL World Cup 2024, a total of 8 teams participated. Each team played
14 matches during the league stage. For each match won, a team earned 2 points
and for each match lost, they earned 0 points. The total number of matches

played in the league stage was 56.
i) How many matches did each team play against every other team during the league

stage?
A)7 B) 2 C) 4 D) 14

ii) If a team A won 10 out of its 14 matches, how many points did the team earn in

the league stage?
A) 20 B) 15 C) 25 D) 30

iii) If Team B won 8 matches and lost 6 matches, how many points did Team B

accumulate in total?
A) 6 B) 12 C) 16 D) 18

iv) What is the total number of matches that were played among all the teams during

the league stage?
A) 56 B) 14 C) 28 D) 32

3x1M =3M

VIl. A) Comple the table given below:
No. of sides

Q. No. Polygonal shapes Name of the polygon

28

29

30
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B). Measure angle in each figure given below and name the angle. 3x1M =3M

Sub Question | Angle Measure of Angle Type of Angle

C
i) /
A 7

l1
0 N
P
iii) \
Q R

Section -B
VIIl. Do as directed: 5x2M =10M
31. Write the missing numbers. %0)

32. Shekhar is a famous cricket player. He has so far scored 6980 runs in test
matches. He wishes to complete 10,000 runs. How many more runs does he
need?

33. Study the diagram given below. The line [ is perpendicular to line m.

ABCD IEF G H
0 1 2 3 4 |56 7 8 I
o P
.
(a) Is CE = EG? (b) Does PE bisect CG? Give reason.

34. Using the number line represent the integer in ascending order.
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3,6-30-8 1,—4, 5
35. What part of a revolution have you turned through if you stand facing
(a) east and turn clockwise to face north?
(b) south and turn clockwise to face east?

IX. Solve the following: 6x3M =18M

36. Three boys step off together from the same spot. Their steps measure 63 cm, 70
cm and 77 cm respectively. What is the minimum distance each should cover so
that all can cover the distance in complete steps?

37.1f you’re on a diet and have a breakfast consisting of 150 calories, a
Lunch consisting of 350 calories, and a dinner consisting of 1000 calories,
then find the sum of the calories consumed that day. Write any two importance of
eating balance diet. ‘

38. Simplify the following:
a) (—3) + (—100) + 83 b) 37 + (—2) + (—65) + (—8).

39.Give reasons for “A square can be thought as a special rectangle and special
rhombus”. Or
"How are a square and a rectangle similar? How are they different?"

40. Simplify (— 8) — (—10) using the number line.

41. A person had X 10,00,000 with him. He purchased a color T.V. for X 16,580, a
motor cycle for 45,890 and a flat for X8,70,000. How much money was left with
him?

X. Solve the following: 3x4M =12M

42. Mr. Patil has three classes with 28, 42, and 56 students, respectively. He wants to
divide each class into groups, such that every group has the same number of students
and no students are left out. What is the maximum number of students Mr. Patil can
put into each group? What was the value thought by Mr. Patil?

43.Use the adjoining figure to name
a) Line containing point E.

C
b) Line passing through A. < I\ F/- %
A B\D E 7
o

c) Line on which O lies.
d) Two pairs of intersecting lines.

44. i) JVM HST school newspaper Imprint is published every month. One copy has 25
Pages. Every month 1550 copies are printed. How many pages are all printed
every month? Also find the number of pages printed every year.

ii) Is reading a newspaper a good habit Justify your answer.
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